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Why to study macro-economics ? What are the major

macroeconomic issues ? 47

Explain the circular flow of income, output and spending
in an open economy. 9
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Explain. the working of multiplier when change in
investment in the economy is Rs. 1,000 crores 'an‘d the

MPC is 0.50. Also estimate the total change in income

and value of multiplier. 12
Given the following data for an economy :
Consumptionr function . C=150+0.60Y,
Investment I = Rs. 120 crores
Government Expenditure G = Rs. 100 crores

Taxes T = Rs. 50 crores
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Calculate the following : -

N0 Equilibrium level of income.

€)] Change in equbilibrium lével of income

if government expenditure increases by Rs. 50 crores. 4,4
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What do you mean by Balanced budget ?

. Distinguish between budget deficit and budget

surplus. 3,7

What is consumption function .? Explain the

" relationship between APC and MPC in case of linear

consumption function. - 4S5
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What is aggregate demand ? Show the derivation of
aggregate -derﬁand curve. 36 -
Ef(plain how the positive slopé of short run aggregate
supply curve affects the pricé‘lével and real GDP. 1.1
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What is kigh powered money ? How does it influence

money supply in an economy ? 3,7
Distinguish between metallic.money and paper money. 10
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(@) Define IS curve. Explain its derivation graphically. 5‘72,6‘/2

()] Derive the aggregate demand curve from the IS-LM

’

model. 8
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(a) Distinguish between Current account and Capital account

of balance of payments. 9%
(b) Discuss the factors that cause fluctuations iﬁ equilibrium
exchange rate. 10%
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8. (a) What do you mean by economic growth and cyclical
fluctuations ? 9%

(b) What is fiscal policy ? What are the limitations of fiscal

policy ? 10%%
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